
2nd	
  	
  December	
  2013	
  

































































































































Suppose	
  that	
  events	
  A1,	
  …,	
  AN	
  form	
  a	
  set	
  of	
  mutually	
  
disjoint	
  events,	
  such	
  that	
  their	
  union	
  is	
  al	
  in	
  the	
  sample	
  
space	
  for	
  any	
  other	
  event	
  B.	
  
	
  

Then	
  the	
  classical	
  law	
  of	
  total	
  probability	
  can	
  be	
  
formulated	
  in	
  the	
  following	
  way:	
  



	
  	
  	
  One	
  can	
  convert	
  a	
  classical	
  probability	
  into	
  quantum	
  
probabilities	
  using	
  Born’s	
  Rule:	
  

Then	
  the	
  classical	
  law	
  of	
  total	
  probability	
  can	
  be	
  
formulated	
  in	
  the	
  following	
  way	
  (using	
  Born’s	
  rule):	
  



	
  	
  	
  For	
  simplicity,	
  let’s	
  assume	
  that	
  N	
  =	
  2:	
  





Classical	
  Probability	
  

Quantum	
  Interference	
  Effect	
  



Interference	
  =	
  	
  

Knowing	
  that	
  

Then,	
  

Interference	
  =	
  	
  









¡  Directed	
  acyclic	
  graph;	
  

¡  Each	
  node	
  represents	
  a	
  random	
  variable	
  

¡  Each	
  edge	
  represents	
  a	
  	
  direct	
  causal	
  
influence	
  from	
  the	
  source	
  node	
  (cause)	
  to	
  the	
  
target	
  node	
  (effect)	
  



C	
  

B	
  A	
  

Pr(	
  A	
  )	
  =	
  0.3	
   Pr(	
  B	
  )	
  =	
  0.5	
  

A	
   B	
   P(	
  C	
  |	
  A	
  B	
  )	
  

T	
   T	
   0.8	
  

T	
   F	
   0.7	
  

F	
   T	
   0.4	
  

F	
   F	
   0.02	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

Pr(	
  C	
  =	
  t	
  |	
  A	
  =	
  t,	
  B	
  )	
  =	
  	
  ?	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  
§ We	
  need	
  to	
  compute	
  the	
  full	
  joint	
  distribution!	
  

	
  
A	
   B	
   C	
   Pr(	
  A,	
  B,	
  C	
  )	
  

T	
   T	
   T	
   0.3	
  X	
  0.5	
  X	
  0.8	
  =	
  0.12	
  

T	
   T	
   F	
   0.3	
  X	
  0.5	
  X	
  0.2	
  =	
  0.03	
  

T	
   F	
   T	
   0.3	
  X	
  0.5	
  X	
  0.7	
  =	
  0.105	
  

T	
   F	
   F	
   0.3	
  X	
  0.5	
  x	
  0.3	
  =	
  0.045	
  	
  

F	
   T	
   T	
  

F	
   T	
   F	
  

F	
   F	
   T	
  

F	
   F	
   F	
  

	
  
	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  
§ We	
  need	
  to	
  compute	
  the	
  full	
  joint	
  distribution!	
  

	
  
A	
   B	
   C	
   Pr(	
  A,	
  B,	
  C	
  )	
  

T	
   T	
   T	
   0.3	
  X	
  0.5	
  X	
  0.8	
  =	
  0.12	
  

T	
   T	
   F	
   0.3	
  X	
  0.5	
  X	
  0.2	
  =	
  0.03	
  

T	
   F	
   T	
   0.3	
  X	
  0.5	
  X	
  0.7	
  =	
  0.105	
  

T	
   F	
   F	
   0.3	
  X	
  0.5	
  x	
  0.3	
  =	
  0.045	
  	
  

F	
   T	
   T	
  

F	
   T	
   F	
  

F	
   F	
   T	
  

F	
   F	
   F	
  

	
  
	
  

We	
  don’t	
  need	
  to	
  
compute	
  the	
  entries	
  
where	
  A	
  is	
  False!	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  
§ We	
  need	
  to	
  compute	
  the	
  full	
  joint	
  distribution!	
  

	
  
A	
   B	
   C	
   Pr(	
  A,	
  B,	
  C	
  )	
   Pr(	
  A,	
  B,	
  C	
  )	
  

T	
   T	
   T	
   0.3	
  X	
  0.5	
  X	
  0.8	
  =	
  0.12	
   0.4	
  

T	
   T	
   F	
   0.3	
  X	
  0.5	
  X	
  0.2	
  =	
  0.03	
   0.1	
  

T	
   F	
   T	
   0.3	
  X	
  0.5	
  X	
  0.7	
  =	
  0.105	
   0.35	
  

T	
   F	
   F	
   0.3	
  X	
  0.5	
  x	
  0.3	
  =	
  0.045	
  	
   0.15	
  

Sum	
   0.3	
   1	
  

	
  
	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

§  Just	
  sum	
  the	
  entries	
  where	
  C	
  =	
  T	
  
	
   A	
   B	
   C	
   Pr(	
  A,	
  B,	
  C	
  )	
   Pr(	
  A,	
  B,	
  C	
  )	
  

T	
   T	
   T	
   0.3	
  X	
  0.5	
  X	
  0.8	
  =	
  0.12	
   0.4	
  

T	
   T	
   F	
   0.3	
  X	
  0.5	
  X	
  0.2	
  =	
  0.03	
   0.1	
  

T	
   F	
   T	
   0.3	
  X	
  0.5	
  X	
  0.7	
  =	
  0.105	
   0.35	
  

T	
   F	
   F	
   0.3	
  X	
  0.5	
  x	
  0.3	
  =	
  0.045	
  	
   0.15	
  

	
  
	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

§  Just	
  sum	
  the	
  entries	
  where	
  C	
  =	
  T	
  
	
  

A	
   B	
   C	
   Pr(	
  A,	
  B,	
  C	
  )	
   Pr(	
  A,	
  B,	
  C	
  )	
  

T	
   T	
   T	
   0.3	
  X	
  0.5	
  X	
  0.8	
  =	
  0.12	
   0.4	
  

T	
   T	
   F	
   0.3	
  X	
  0.5	
  X	
  0.2	
  =	
  0.03	
   0.1	
  

T	
   F	
   T	
   0.3	
  X	
  0.5	
  X	
  0.7	
  =	
  0.105	
   0.35	
  

T	
   F	
   F	
   0.3	
  X	
  0.5	
  x	
  0.3	
  =	
  0.045	
  	
   0.15	
  

	
  
	
  

Pr(	
  C	
  =	
  t	
  |	
  A	
  =	
  t,	
  B	
  )	
  =	
  0.75	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

	
  
	
  	
  

	
   	
  	
  

	
  
	
  
	
  



C	
  

B	
  A	
  

Pr(	
  A	
  )	
  =	
  	
  

A	
   B	
   P(	
  C	
  |	
  A	
  B	
  )	
  

T	
   T	
  

T	
   F	
  

F	
   T	
  

F	
   F	
  

Pr(	
  B	
  )	
  =	
  	
  0.3eθ1 0.5eθ 2

0.8eθ 3

0.7eθ 4

0.4eθ 5

0.02eθ 6



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

¡  The	
  full	
  joint	
  distribution	
  corresponds	
  to	
  the	
  
superposition	
  state	
  

	
  



¡ What	
  is	
  the	
  probability	
  of	
  node	
  C	
  given	
  that	
  
node	
  A	
  was	
  observed	
  to	
  occur?	
  

	
  
	
  



¡  The	
  quantum	
  probability	
  Pr(	
  C=t	
  |	
  A=t,	
  B	
  )	
  can	
  
be	
  anything!	
  

	
  

Pr
(	
  C

=t
	
  |	
  A

=t
,	
  B

	
  )	
  

θ	
  



¡  The	
  quantum	
  probability	
  Pr(	
  C=t	
  |	
  A=t,	
  B	
  )	
  can	
  
be	
  anything!	
  

¡  Parameters	
  grow	
  exponentially	
  with	
  the	
  
number	
  of	
  nodes!	
  

	
  



	
  
	
  

How	
  do	
  we	
  automatically	
  tune	
  quantum	
  
parameters	
  under	
  Quantum	
  Bayesian	
  

Networks?	
  
	
  



¡  The	
  Burglar	
  /	
  Alarm	
  network	
  

	
  



¡  The	
  Burglar	
  /	
  Alarm	
  network	
  

	
  



¡  The	
  Burglar	
  /	
  Alarm	
  network	
  

	
  








